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1m = 100 cm

whA] 5m x 5m = 500 cm X 500 cm
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1t = 1000kg = 1000000 g
2.3t = 2300 kg = 2300000 g
— 2300000 + 2300 = 2302300
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0.6t = 600kg
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10000cm? = 1m?

(1) 150000cm? = 15m?
(2) 16m? = 160000cm?
(3) 270000cm? = 27m?
(4) 43m?2 = 430000cm?
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(1) 1m? = 10000 cm?

(2) 10000 cm? = 1 m?

(3)1km? =1kmx 1kmo|BEZ
1000 m x 1000 m = 1000000 m?2
whabA] 4000000 m?2 = 4km?2 JU o,
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600 m x 800 m = 480000 m?
480000 m? = 48 ha
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1200m x 700m = 840000m?
840000m? = 84ha
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 4km? = 400 ha = 40000 a = 4000000 m?
(2) 5000000 m?2 = 50000 a = 500 ha = 5 km?
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1km? = 100 ha = 10000a = 1000000 m?
0.07km? = 7ha = 700a = 70000 m?
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@® 2km? = 20000a @ 6ha = 60000 m”
@)40km? = 400ha @ 500ha = 5km?

® 70000m? = 7ha

® 40km? = 4000 ha




13. o= & vt=A UEhd 22 o= AdY7p?

@D 13ha =130a @1.8km2 = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?
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D 13ha = 1300a

® 5.6 km? = 560 ha

@ 92000a = 920 ha

® 8.5km? = 8500000 m?
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@ 0.04km? @ 0.4ha ® 400a
(@) 100000 m? ® 4ha
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@D 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha
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la = 100 m?, 72a = 7200 m?

7200 m? + 90 m?

80m




@® 540g°] 100008+ 5.4 t Pt
@)350kg+4.7 1= 820kg

® 570000g + 0.043t = 613 kg

@ 5kg°] 100081 5t JYct.

® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg
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@ 3kg =3000g @ 4t = 4000000g

@5.5t = 55000000 g @ 6t = 6000kg
® 120t = 120000 kg

® 5.5t = 5500 kg = 5500000 g
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3.6t = 3600 kg
3600 + 15 = 240(AFA})
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890 + 759 + 673 + 594 = 2916( kg)

— 2916t
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210 X 80 = 2 + (140 + 90) x 210 + 2

= 8400 + 24150 = 32550 m?>

= 325.5a
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(dre] Yo])= 480 x 600 + 2 = 144000( m?)
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whebA], 36000 m? = 360a = 3.6 ha YU T,
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1t =1000kg
1000 + 40 = 25(7H)
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= 600 x 350 = 210000( m?) = 2100( a)
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